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G3-11: ['LfN', 'LfNT', "TsN', "TSNT']
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G3-11: ['LfA", 'peakTgtLAl']
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G3-11 (plot by DAT)
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Days After Budding

G3-11 TsN1 (plot by DAT)
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Days After Budding

G3-11 TsN2 (plot by DAT)
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Days After Budding

G3-11 TsN3 (plot by DAT)
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Days After Budding

G3-11 TsN4 (plot by DAT)

1
1
1
1
1 -

s0{ 1 e T
| Ry M
1 _1*"‘ [
I e ———— Harvest
! °

i 1 -

40 : -—— Turn Color
1 -
! -—@
| -

30 1 : l__‘
1 r".
1 -—@
| e

20 1 I———Q
1
I —-@
1 |—"
| ---e

. 1 |

10 : e P Fruit Set
1 I
: : Anthesis

o ! &
1
: Budding
T I T T T T T T T
10 20 30 40 50 60 70 80

Days After Transplant




G3-11 TsN5 (plot by DAT)
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G3-11 TsN6 (plot by DAT)
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G3-11 (plot by adjDAT)
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Days After Budding

G3-11 TsN1 (plot by adjDAT)
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Days After Budding

G3-11 TsN2 (plot by adjDAT)
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Days After Budding

G3-11 TsN3 (plot by adjDAT)
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Days After Budding

G3-11 TsN4 (plot by adjDAT)
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Days After Budding

G3-11 TsN5 (plot by adjDAT)
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G3-11 TsN6 (plot by adjDAT)
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Plot [['sfTemp’, 'sflnit’, 'sfDeV', 'sfDem']]
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Plot ['sfDemLfA']
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Plot ['sfDemFrV']
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Plot EnvOpt Decision
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